AP Calculus AB Name: * P‘ﬂ\\i\\f}‘( KU\}}%’

Unit 1~ Day 3
FREE RESPONSE (Calculator NOT Permitted)

Consider the functions below to answer the following questions.

3x? — 5x — 2 x® + 3|x| x < =3
F = = !
€ x4 — 4 G(x) { 4x + a, x> —3

a) Find the value of liEn_ G (x). Show you work. (1 point)
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b) IsF(2)= hm F(x)? Show you work & explain your reasoning. (2 points) fe«
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¢) Inorder for hm G (x) to exist, what two I|m|ts must be equal? Fm’é'the value(s)

of afor WhICh the limit exists. Show you work. (2 points)
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d) Draw a graph of a function, H(x) that meets the following criteria. (4 points)
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